B BURFER

Q HEFEIFEFRIT, ROISBHH - ENEEDREF M FERNETH,

A — R E B Ef5 B R DA
1.9% m+5 1.9% 10.0% = +5
BIZDL V- BlZDl =
m (IO m (DL
nHFEY nHEY
B(ZOMEh o BIZDohEM-
n ;:91':( [ ] Eaf:(
BZohiEho FIZT0oH >
1= 1=
C T N ORIERREE D D HtHIMIZEZZHENH
3.1% 4.3%
5 = =+
(e IAV HlzoL =
[ P=elRV m5IZDLV=
nHEY nbhEY
BZDohEho BZDOMEMD
1= _
mFEo71=< | Tf?f:(
FIZonigEh-o ZIZOM M
1= 1=
EqdSa=4s—>avEen F ¥R RE D
0.6% 2.5% R 10.0% 8.8% N
FIZolv= BIZDULV:
m5IZDLV-= B BIZDLV=
" HEY " HEY
BlzohEM> Sl=onamo
_ 1=
[ ] 7éof:( mESC
BIZDOM gl B(ZohEho
1 =
G XEXRBREN HY—5—9TDEED
50% 1749 N 08% 9.3% =45
B(ZDLV V= BIZDUL =
mHIZDLV- B 52DV
nHFEY nHFEY
BlZoh b BlZDohiEho
n Eof:( [ ] 7%’)7‘:(
BIZDOM o BIZDM -
- 1=




| AR REEET 58N JDAER AL TYEERITTS
4.3% u+5 L2 5
12.4% FIzDlv= 3.8% BIZDULV=
15.0%

B &(ZDV= m 52DV

nHFEY nHFEY
E(ZDohEh- B(ZDhiEho

| %01’:( | 7%’37‘:(
B(ZDOMEM- BlZDh o
1= t=

KILEVT—avEEh

8.1%

LavEa—4gkRER

11.2% u+5
: glﬁiow‘— ZIZ2W =
E[ZDUV= IOV
nHEY nHEY
BZOEho ZIZohEh o
= 1=
wEorc w Eorc
FIZonigEh-o HIZomiEh-o
t- =
M SNEEDOEREEN
8.1% SR
B(ZDLVf=
B 52D =
mHFEY
B(ZohiEho
u E’DT:(
EZDhEMD

+-




